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Note :

1. This question paper has 100 questions. Each question carries 2 marks.

2. Read carefully instructions regarding method of answering questions given on the last page

and indicate your answers on the Answer-Sheet provided.

3.  Use of any type of calculator or log table and Mobile Phone is prohibited.
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1. WFRE T e i E
(@) 25
(b) 45 —
(c) 20
(d 90

2. U@ f&mE Hit g@ I 99 IR HH

Directions : (Question 1-3)

Read the diagram given below. Choose the
answer from the given options of the

following questions :

10 25
20/17 (15\ 30 )40

70t

A=No, of persons who drink tea

O =No. of persons who drink coffee

D = No. of persons who drink wine

1.  Number of those persons who drink

only coffee :
(@ 25
(b) 45
() 20
(d 90

2. Number of those persons who drink tea

g‘pﬁ o % and coffee both :

: @ 7

i ®) 17
17

®) © 20
20

© @ 25
(d) 25

CGP - 18- 02* Page No. 4 Set-A
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3, W =Rl i g@n 9w, e sy | 3. Number of those persons who drink all,
e fa g tea, coffee and wine :
7 (a) 15 (a) 15
() 32 ,.{ (b) 32
(¢) 22 () 22
(d) 24 (d) 24
4 RN . EHFWEFHTRG TH MR | 4. Direction: Two arguments are given
% | 39 qgﬁ&qam% Coeket after a statement, you have to
i T B decide which argument is strong
¢ : ¢ and which argument is weak.
O« T W E Ay <t afeenai Statement : Should the complete
3R el % forg qft fnen 4w o education for women and girls of
& S =R ? all the age groups to be given free
f cost in India ?
R : AU TN &f 4
a;ﬁ’ T i Argument I : No, it will weaken our
FTLIM | present social structure.
TH-11 : &, TRATS Afeenatl & T & Argument IT ; Yes, it only is the way
TG T 1 TE T TR | to regain the glory of Indian women.
(@) 3 S = (a) Only Argument I is strong.
i (b) Only Argument II is strong.
(b) et Aeh-11 Foed § | (c) Either Argument I or Argument II is
(c) 1A -1 AT eh-11 FoEq @ | strong.
(@) T 1 3R -1 T R (d) Neither Argument I nor Argument II
' is strong.
T 6n? + 6n & n T NHA GE&T 8 5. The number 6n? + 6n, where n is a
e T & natural number, is always divisible by
(@) 183 (@) 15
®) 12% (b) 12
) 68 ) 6
(d 67 12¥ (d) 6and 12
CGP - 18 - 02* page No. 5 SetA
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6. Tamfalea # & wmade 2 ¢ 6. Which of the following is odd one ?
12 S, 23 S, 30 e, 5 R, 12" January, 23" January, 30 January,
s 5 September, 14" November
sl (2) 23 January
(b) 30 St
; (b) 30" January
(©) 5 T
(c) 5" September
(d) 1479y
(d) 14" November
fw: @.7-12)
Direction : (Question 7 - 12)
HfeTReT 1 e i e s o e . :
& Study the following and answer the questions :

) ! \ [ |
JY2_=_S£dEGMq:_7.$HP9KLb @WQl 3#CDC<!J
i 23 3 o :

\{
48 ﬂﬁﬁaﬁméﬁﬁm%@@@

e :
BT % W IE) T S 37T R
& .
Prgariadie
2 (a) I
1 (b) Th
? ) &
> @ T

8. 2YS, Edf ® 36t yor g=lm 2 3 E:

JY2=S£dEGM:7$HP9KLb@WQ13#CD®©

How many such symbols are there each
of which is followed by a number or

preceded by a letter but not both ?
(a) Zero
(b) One
(c) Two

(d) Three

2YS is related to Edf in the same way

PHK weafim 2 as PHK is related to
(2) bQdA (@ bQd
(b) @bL @ (b) @bL
(c) WQE® () WQE
(d @bQ@ d @bQ
CGP - 18 - 02*
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9. WM swmiRmiAs S ey |9 Howmany such digits are there each of
Tefte B 1 T W IR Th N 7 § which is followed by a symbol or
feg Qi =l ¢ preceded by a letter but not both ?

(@) Y (a) Zero
(b) T (b) One
© @ (c) Two
() T A B T (d) None of these

10. W fran amer e 1R Facdqr | 10. How many such Jetters are there each of
TEE Y TR T HE AT @ fheg A1 which is followed by a number or
T8 ? preceded by a number but not both ?

of (a) =108 (a) Four
© a () Two

11, 35 sreE & o % fRdA ot 27 11. How many English numerals are there

in this arrangement ?
a) 7 _
(a) oo
— ) 5 ® 5
(c) 2 © 2
(d) 0 ) (d) 0 (None)
CGP-18 -~ 02* Page No. 7 Set-A
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FAE ?

(a) ot 7
(b) TH

< () @

13,

14,

(d) &=

ﬁqf%lf@aaﬁ mﬁﬁm@mmqﬁ

¢
b*-hJ L AT hjinpﬂ'
(a) bcim

(b) cfgo
(c) dfgp -~
(d) dflp _

Frfofan smeimt & & 9 fm SR
JSTQ 1 ferT T it et Wit wet

& N o
oL » AN\

Aa) 94 (A) FR(C)
(b) %39 (B) 3R (D)
(c) %€ (A) 3 (B)
(d) ¥4 (A), (C) 3 (D)

CGP-18-02*

12, How many symbOlS represent the

13.

14.

tag 9
currencies of some countries !

(a) None
(b) One
(¢c) Two

(d) Three

The missing letters in the following

letter series in order are :
b__hj_n_rt

(a) beim

(b) cfgo

(c) dfgp
(d) dflp

Which of the following figures can be
drawn without lifting the pencil and
without repeating a line 7

& AA (B)
LI /2

(@) Only (A) and (C)
(b) Only (B) and (D)
(¢) Only (A) and (B)

(d) Only (A), (C) and (D)
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15, Prferie et 3 2 R, T oy
) B W1 AT 3G gian } 7

2 @D

16. 1 302w % e e R g gl T
 forg g w P 2

(@ 1:30

5
(b)1:511
( 1'10—8
) 43 11

7
@ 1:107;

17. a3 =81T@n="?

15. Which diagram shows district, state and

country in following diagrams ?
o (U0
»@D

16. At which 'time the hands of clock will
meet together between 1 and 2 O’clock ?

@ 188

5

b N 511
1 < 1()‘8'
©) + U114

1
@ 1:1035

17. 13" =81,thenn=?

(a) 81 (). 3

®) 9 ) 9

© 8 %)

@ 6 | @ 6 ‘
T Y T

LR o USSR RO T
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:{ 76 +J256
112 576 +f35¢ . L2 3T, »
18, ot AL, = . 18, The value of 196 12 8
(a) 32 (a) 32
(b) 36 (b) 36
(c) 28 (c) 28
d) 24 d) 24
19. (1—1) ( ). (-1 : (1-3(-9 (-3 &
i 3) 1—4).(1—5) (1_-1{) HT 19, Thevalue of 1 3)'\171 ST A
T 5
1
1 1
@ 1 @
2
5 ()
(b) = ‘
2(n-1
2n-1 $
limen
),
r @ s@+D
@ S@+D
20. Complete the following :
20. == qu i YBV, TGT, OLR, JQp,
YBV, TGT, OLR, JQP, (@) EVO
(@) EVO (b) FVYM
(b) FVYM (©) EVN
(c) EVN (d FVN
(d) FVN :
CGP - 18- 02* Page No. 10
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21. @‘-‘lﬁﬁﬁ‘ﬁ)jﬁﬁﬂ Qitﬁﬁnﬁg@:ﬁ 1. All Saturday and Sunday are holidays
wh # | afe wdT e %1 R, @ Iu e in a month. If the month is January,

e Tl -gfgaf gt ? 3 then how many total holidays are there

* % in that month ?

(a) 8 5
% (a) 8
.2 () 9
, @ 19 (c) 10
/ (d) ST AL @ | (d) Incomplete information.
fadw : (3.22 - 26) Direction : (Question 22 - 26)
F3 Ru T TS H1 v T 3k gy | Study the graph given below and then give
STETRE ST BT I ST ¢ the answer to the questions based on them.
L 70| Percentage of Non-electrified Villages
704 - frgefipa st 1 o & 60
- 60 + vien
60 + 80 o 50
50 Sl 45 o
3 50 + @, & 40 + B
e -+ 3
< 40 ] g 2 o T 30
,E 304 25. - £ ol 20
i 20, &
o 11111 = []L11]
10 + ; . .
5 Sl e at b el SRS f
States

22. frw v # fagdea ot @1 sferd | 22. In which state percentage of electrified
village is maximum ?

R 8 ?
@ 3 (@ a
®) @ (R
_@© % (¢} ¢
@ 7 b
CGP-18 - 02* page No. 11 SetA
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23. R 3 W sy @ Fregdan %1
T a2 ot i e
oo et et v 4y s et 2

a‘raﬂmmﬁ%ﬁqmm%ﬁﬁw“
IR 7

(@ |
~(b) ¥
) 3

d %

24, ﬁ?ﬁﬁﬂmﬁﬁmﬁmemmm
mﬁ?ﬂf?@?ﬁmﬁﬁm%?
(@) Uiy

(b) = ~
(c) IR
d @

25. mﬁammﬁm%aﬁa@rmﬁ
_@W@mmm%?
@7
(b) %
€

d =
CGP-18 - 02*

23,

25.

If Central Governmen decided to help

immediate electrification and started

from the State  having minimum

electrified villages, then which state

Will be fourth i preferential order ?

(@) ¢

(b) b

In how many states electrification of

the villages: have been completed
atleast 609 of above ?

(@) Five
(b) Three
(¢) Four

(d) Two

In which state percentage of electrified

villages is double in comparison with
state d ?

(@) c
(b) £
(¢) a
(@ b
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$  27. WI9H W YRd B T A F T B
. Fod
14° FpaT T 2 7
t'l/ﬁ
’5/6: (a) M9 @ AerH
b (b) FETAFH
r(f}‘/oo At
g0y (€) ATNEHH
oy

(T

s 31 o fora wierera ot w61 frgeliet

agHR?
(@) 65
® 25
© 35

7

@ 75

fAdw: . 27-31

frrifiee <6 @) 331 (T 9 A1) AT H
= 7dl W E weliid F1d & | §701 I

QN 3¢S

26. How many percentage of villages have

electrified in state a ?
(a) 65
(b) 25
(c) 35

d 75

Direction : (Question 27 — 31)

The following charts shows the expenditures
on different items of people of two countries

(India and Nepal). Study them and find the

correct answer of the questions given below :

Nepal

27. How many times is the expenditure of
India to expenditure of Nepal on food ?

(a) More than half
(b) Less than half
(c) Less than two times

(d) More than two times

Scanned by CamScanner
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28. uaret & ST HioH Y 3 Iewa WA 28. How much more is the percentage of
w1 B i sRre Ed W ¥ 7 total expenditure on entertainment in
: comparison to food of the people in
(@) 62.4% Nepal ?
(b) 71.5% (o)} 2%
(c) 41.7% 9,
; ©) 41.7%
v b ke B (d) None of these

29, YT S w1 I W | TE A 29. What is the approximate percentage of
expenditure on other items of Indian

foraa afowa & 7

people ?
(@) 22% @) 22%
(b) 14% ) 14%
(c) 9% ) 9%
d) 17% @ 17%

What is the ratio of expenditure on
travel of Indian people and expenditure

30. Wﬁﬁmmmaﬁmm% 30,

ﬁﬁﬂm“@ﬁﬁwm%? ontravelofNepalpeOple?
(@ 9:5 @ 9:5
(b) 2:5 () 2:5
gy S8:3 (c} ‘BiB
d) 3:4 @ 3:4
CGp-18-02* PR G PgeNa ¥ SetA
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If the expenditure on education is

, gRWEH BRI 25 sg | 31
ER B G 76T 370d W e @l gy ¢ 22 lakhs 50 thousand of Nepal people,
¥z then how much their expenditure is on
entertainment ?
(a) ¥ 65E@ 30 &R
(@) ¥ 65 lakhs 30 thousands
b) T 50 @@ 60 TR
i (b) Z 50 lakhs 60 thousands
Sl (c) 60 lakhs
(@) T10¥E20F M (@ % 10 lakhs 20 thousands
32, O o T et BT ¥R 20 f5.m2 | 32. The weight of a bucket full of water is
gfe a1t Tl J ameft ot 2 a9 3T R 20 kg. If the bucket is half filled with
14 f5.am. ? | @l TRt T UR m.}l water, then its weight is 14 kg. How
ﬁ% R ¢ many kg is the weight of empty bucket ?
@) 6%%.m. @ kg
) 7R R o
© 10Rs.m. ©) ke
@ 8fsmm - (d) 8kg
33. I T Zohl I A 2 T2 qeff 3 Hue 33. Two pipes can fill a cistern in 2 and 3
R asas 1A 21 7 T Y FCIl hours respectively. If both the pipes are
R, R v & T e - opened together, then the time taken to
fill the cistern is
(a) 29930 fme
(a) 2 hrs 30 minutes
e () 5hrs
) 50T (c) 50 minutes
(@ 1%ver 12 , (d) 1 hr 12 minutes
cGP-18-02* Page No. 15 Set-A
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@ | 34 A train of length 250 metre crosses a
M, 250 e T o Yo @™

: seconds. How many
12Mﬁmm% 'Wﬁﬂﬁ E:loem::esflhzour is the speed of the
g T fopeirien ity wver @ ¢ T
; (a) 60 (a) 60
E (b) 80 (b) 80
| / © 7 (© 75

(d) 50 (d) 50

35, UHIGH 2,700 S e aa @ @™ (| 35.  On selling an article at % 2,700 the logg
B & R i TG 10% AT ¥R is the same as the profit if it was sold op
(7]

TS sy R

5 10% profit, then what is the cost price
AT
TRERNRLY, T T e of the article ? }
TR ? o l
e (2)" T 24700 /
(@) 2,700
PE s (b). 3,000
: .
~ () 3,000 b
2 23,300
i © %3300 S (©)
o (d) 3,600
) 23,600 3

36.%€ﬁmma?r(@a$1%l¢@3ﬂﬁ 36.

TS S S F A H 15 TR TR time the sum of its length and breadth.
3Igh mrg 40 et %’ @ ITq £ If its length is 40 metres, then what is
m St 27 the breadth of the field ?

)
(2) 20 metres 7 Aﬁki % \9 |

R
(b) 24 metres W s m
iy
(c) 25 metres \4 8\ (% 4
7

The area of a rectangular field is 15

(d) Data is not sufficient. LM

it
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37, aft o v THafE = WA A7
& g @ o 8, 2 36 TS = 6
T8 g fiped a1 A G T & Smem
(@) 2499
®) 1674
() g ad
@ 12ad

frdm : (w. 38 - 40)

2 Rrgrert A 3 B’ % wlenee frefefas
afermr d g | MR Ryl TR W
anfere @ @fvrg -

oo

RS L b

—é o i
lL ﬁ;j‘ [}

ek !

37, If an amount is doubled in three years
at a given ratio of compound interest,
then at the same rate of compound
interest in how many years it will
become sixteen times ?

(a) 24 years
(b) 16 years
(c) 8 years
(d) 12 years

Directions : (Question 38 - 40)

The examination results of two schools A and
B is given in the table below. Answer the

following questions :

. ' : |
foem A’ | fmmea B’ | School A School B
T | Classes
w4 | often § adten # . | Appeared |Pass | Appeared | Pass
* & | X 130 (—| 90 |50
e X | 130 |— '
: N R X = |160f 110 T 80
4 X .| — |[160| 110 |80
(Xt | 160 [150] — 105 .~ Rl L
wit | 140 | 135 | 110 |— XI1I 140 {135] 110 | —
ww | 630 | 550 | 430 |340 Total | 630 |550| 430 |340 ijﬁ
P e
gy
- o isgrai s el 38. How many percent of the total number
|HIIIE?I L of students of both the school are pass ?
Fefl g2 (a) 90.0 g5xL o
(a) 90.0 o g
| (b) 87.4 ) 4,:@1 (b) 874 wﬁ_
@-,. i) 839 C>) e=5co (©) 83.9 N3 s |
@ 92 d 93.2 &6 5_253_‘_7%;‘1‘
~ CGp-18-02° & ""'T_., o GYa AT
TR ; e G
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. 9. ssed students of Cla
39, @ fawrerdt @ wan X % 94 faanff@ | 39, The number of passe ass

CARS Ik B X from both the school is
(a) 310 (a) 310
(b) 255 (b) 255
(c) 250 (c) 250
(d) 240 » ) 240

40. e ‘A’ % zﬁqu\,a‘n '@fm—x % 40.  Average of passed students of class IX

uTR B 9ot ferenfelat w1 sfwa b and class X of school A is

fte (@) 150.6 (a) 1506

7 (b) 155.0 (b) 155.0

@ () 70.0 () 70.0
(d) 132.5 ). 1328

Ewm: 7. 41 -42) Directions : (Question 41 - 42)
s fafraa Fe qmiq;_ In a certain code language
@) \\0;; daga% 3% you are good (1) Pit dar na means you are good
(i) da:i ok pa 1 7% g00d and bad 4% (i1) dar tok pa means good and bad
Gi) tim na\tﬁl( 1 57 they ase bad 2 | (ii1) tim na tok means they are bad

b

41. @AW ‘they’ % e fFa Az ®wEn | 4. Which code is used for ‘they’ in this

frrm ® 7 language ?
(a) na (a) na
(b) tok (b) tok
~(c) tim (c) tim
(d) pit (d) pit

Page No. 18 Set-A
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42, IE W H IW T@ HW F fw | 42, Which of the following statements may
freforfiga o @ 68 FUF # &R S be removed in order to find the answer
THAR ? of the above question ?

(a) e IF | (l) (a) only (l)
c
; (d) either (ii) or (iii)
(d) Jna (i) M (iid)
43. Tt ‘A’ ©IF A Tert @ B TWh B’ 43.~ Prachi starting from place A towards
EICKGED 10@23&@3@[:&, GEEREAR east upto place B covered a distance of
T o1 3R 3 Bz Teh, R A 98 6 10 feets, then she turned right and
. ’ moved 3 feets, again she turned right
T G 3R 14 Feoeht |TERHA S
Hﬁ and moved 14 feets. At how much
EC ?
A distance from place A is she ?
Lokt
@) die A { (a) 4 feets
—Ab) 5B al (b) 5 feets
© 276k f - W H‘H (©) 27 feets
10
(d) 247 6 (d) 24 feets
2

44, IR STEA2012F @FaR A 31 A | 44, If 5 January, 2012 was Monday, then
2013 B P AT feT e 2 which was the day on 31® March, 2013 ?
(a) TER (a) Sunday
(b) THIR (b) Monday
(c) HIEER (c) Tuesday
d) AT (d) None of these

CGP - 18 - 02* Page No. 19 Set-A
A
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45. IWAF I+ DFaef+, PHFEX | 45,
AR SFT 3! - B, 71 68A48D258P10 ="

vy o
@46 6oxGErT-EF

() 64 (Rx24 - E®
ey 12

(d) 500

o : (0. 46-43)
@) P HEEEsR, D
39 i sy

@) 5 H x 4 3 Rt ik @A AR
T E |

(i) 4 Bt x 3 3t & Ryada s ) e am
TR

(iv) W9 FARRWMATITIL |
(v) TN Af x 1 xRS

If A means +, D means +, P means x

and S means —, then 68A48D2S8P10 = 7
(a) 46
(b) 64
¢) 12

(d) 500

Directions (Question 46 - 48) :

(1) A wooden cuboid has length 4 cm,
breadth 3 cm and height 5 cm.

(i) Opposite sides of 5 cm x 4 cm are

coloured red.

(iii) Opposite sides of 4 cm x 3 cm are

coloured blue.

(iv) Remaining two sides are coloured

green.

(v) The cuboid is cut-off to divide into

q:ﬁﬁmw%l cubesof Icmx 1 cmx 1 cm.
46. SR TIAFTM @A ? 46. How many cubes will have only one
colour ?
(a) 12 @ 12
(b) 16 ®) 16
(c) 22 () 22
(d) 28 @ 28
CGP - 18 - 02* Page No. 20 Set-A
2d
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frR A s e T T aEm ? 47. How many cubes will have all the three
(a) 14 colours ?

) 12 o

(b) 12
s © 10
(@) 8 @ 8
48. fpaa o1 & IS T AR B ? 48. How many cube will have no colour ?

@) = (2) Nil

®) 6 ®) 6

(c) 4 (c) 4

(d 2 d) 2

49, SRfoFafeumue |t I Biga @ | 49. Four options are given. There is
ﬁa’:rmm% | R ﬁmmwm | similarity in three excluding one. Find

the option which differs.
(@ (@) Tohear
(b) <edr (b) To climb
© AT (¢) Toswim
@ : ‘ (d Torun
50. YETES g % WH W 9E 9@ - 50. The correct number at the place of

5 question mark is

(a) 4 . @is
(b) 25 ®) 25
(c) 36 () 36
@ 10 @ 10
CGP~18-02* Page No. 21 Set-A
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51, U qER e R Brear 5 At 2 % S1. From a circular plate of radius 5 cm, a
disc of 3 cm radius was cut, whose
q 3 ¥t e w51 R e foran S . ‘
FHA3TA T e & centre is the same point as of plate,
| o1 Q g e @ A A I € Now, have two items a disc and a
o W T ¥ Sywe w7 3‘3‘7‘_“% washer. Find the ratio of area of disc
with washer,
S
(@) 3 3
3 @) 3
1
X 1
% 3 ®) 3
2 9
© 16 (c) Té
16 16
@ 5 @ 3
52. AN vEE REF N H ot @ F | 52 Find two . numbers such that the
it % e F1 3702 348 difference between, their square of sum
: ¥ and sums of square is 2,
(2) heret FHIeaieh e (a) Only imaginary numbers
(b) Y N TE (b) No numbers
() T T I T U S () One number positive and other
negative
@ FHABE T (d) None of these
53. 50 ﬁmm TR % mﬁggq g | 53. How many pairs of natural numbers
1 ; " lying below 50 will satisfy the
i 5 e = FE, 3T G condition that the ratio of their
AT HT I 2: TR ? difference to their sumis 2 : 7 ?
(@ 3 3
®) 2 T
&1 () 1
@ Ll (d) None of these

Ll
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54, T, 7 IR BN wH iFRf Eﬁ #UI: 30/ | 54, Ram, Shyam and Hari can do a piece of

45 3R 60 R Hw wwa | 9fE 3 fireram work in 30, 45 and 60 days |
ctively. If they do the work :
30 1 % @ T 7,800 FA &, T8 TREpROtFELY ey do the w
together and eam ¥ 7,800, then what
bl ; amount Ram will receive ? g
(a) 3,800 (a) ¥ 3,800
(b) ¥ 3,600 (b) 3,600 %
(c) 3,400 (c) T3,400
(d) ¥3,200 (d) ¥3,200

55, U &l 40 fedt /g A =@ |/, I | 55, A train with speed 40 kmv/hr crosses a
fem 1 25 foprft /ver &t =Ter & TR T man, moving in same direction of speed
. 25 kmvhr in 48 seconds. What will be
ATGH! Y, 48 Aeheg B U hTeht 8 | 1Tl _
the length of train ?
61 wrvaTg = gt 7 PN

A RRE L TR AN, IR AR A T

(a) 50 metre ‘
(a) 507+ ’ M./grt% (b) 100 metre
~(b) 100 it Y i yqﬂr (c) 200 metre
(c) 200 '—’?71(1%;: ; , (d) 400 metre I
(d) 400X

56, freafeaa ot & i € g st 7 56. Which number will appears in
following square ?
S
$2.4,4.0 [] 08115

3,2,9,4,[ ].8,81,16
—(a) 27 (a) 27 I
(b) 21 (b) 21
) 18 (c) 18
@ 15 d 15 |
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7. mm«mﬁm : 7. Consider the following statements :
() STH IS R ¥ wEi (1) A team leader need skill to assess
f sl AP ¥ STTHER T strength and weaknesses of team
members.
< AW IS R

(1) A team leader need skill to develop
(i) T T ¥ Jm ¥ frg wufwr Rl

specific individual goals and to

R IR T & R am= s ® establish a common goal for the
futo w1 Sve smws R M
3 R RN S #m%% 2 Which of the above statement(s) is/are
correct ?
(@) %94 (i)
@ Only@)
(b) HIHA (ii)

(1)  Only (i1)
© ()9 (i) 2 ’
(©) “Both (i) and (i1)
(d TG IMIA i)

(@) Neither (1) nor (ii)

58. ffaies d @ o9 @1 w-urff awor | 58,

Which of the following is an example

FTIAETR 7 of one-way communication ?
~(a) T AT (ae) SRk (@) A television programme
(b) & Har-Hy IRy © (b) A classroom situation

(¢) THEWEH Y | (©) A conference
(d) T fawg w e / (d) A meeting on an issue

CGP-18-02* Page No. 24 A
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ﬁag;(a.59—62)

P gE 1 PIEF TG e
¥ s A :

o, ST, A S, S,
et ot e @ o1 & | S SRR 5
fyfir STrEAT § qon AHFE, Hiww,
i EAREE AR R E TG
e 7 2 | R e i i o
e e et g, B, AT, T
Sreftater 3it ot S ST & T 3 o
Wﬁ%l@qa
A 3 & g ] TETI & | 3
< A & i el W | o
Fraree TodT & 7 Pedra I T @ Werd
3 | 3 Hhrwe e B 98 Thhe G R |
Greaier Geral § 98 H HeE 51 & | e
i Germ ¢ | s defieT T @ o
Alfaere Tad1 & | IS Hivehel T8l Tgal @ |

W
59. Feaiel HiF Gerdl @ ?

(a) T e
’7[’%"({\ '

o %@'ﬂ
%

Direction : (Question 59 - 62)

Read the following information carefully
and answer the questions :

Ajay, Avinash, Amit, Alok, Arun, Anil
and Akhil are seven friends. They are studying
engineering in different branches such as
Mechanical, Chemical, Electronics, Computer
Science, Information Technology, Biotech and
Electrical not necessarily in the same order.
Each of them also excel in one of the following
games such as Football, Cricket, Hockey,
Badminton, Squash, Volleyball and Lawn
Tennis, again not necessarily in the same order.
Ani plays - Hockey «and neither studies
Electrical nor Information Technology. Arun
studies Electronics and plays Volleyball. Ajay
studies Biotech and does not play either
Football or Squash. The one who studies
Chemical plays Cricket. The one who plays
Football studies Computer Science.(Anil)plays
Squash. Akhil plays Badminton and studies

sg&kfﬁo\glys Football ?
P>

(b) 3789 S (b) n/
—Ac) TR / &) Aok [
(d) yf (@ Wl
T '?
‘}"’.9{7‘1 3 < 4— -3_\
ik ; ; e Set-A

1,'\’
’BT%Z:Y

Y -8 .
N
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60,  3rfvet T g } 7 60. What does Anil study ?
(a) Hiwa (a) Chemical
(b) = MENfrhY (b) Information Technology
A LENEE T (c) Mechanical

(d) Computer Science

(d) YR TEY

61. PeRfeaids o ssa@saie ? | 61.  Which of the following game does Ajay

(a) Torehe P
. (a) Cricket
(b) T
z (b) Football
c
. (c) Badminton
(d sRAm

(d) Lawn Tennis

62. JfW T IGAR ? 62. What does Avinash study ?

@) s () Chemical
(b) e Srefireht (b) Information Technology
(c) AHiTHa (c) Mechanical
(d) R ' (d) Electrical
CGP-18 ;--oz* ; Page No. 26 SetA
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g3, OTEE T WU IV Y | 3y

5 3T 2 @ IBER S “'% 63. Two fair dice are thrown independenQy
'EE”gl Eik by a player and needs a total of 5 to win
a1 & | 3 S ey the game. What will be his probability
2 of winning the game ?
) (@) 3
(b) 3 1
1 ®) 3
© 3 1
: © 3
1
@ 3 1
2 @ 3
g :ﬂq?’tﬁxztﬁ%,@@ 64. A plot of size 3 m X 2 m is dug upto
Wmmmﬁéﬁﬁmmﬂm depth of 1 m. The soil taken out was
1 o used to form a boundary of the said plot
7 M S et T e o , Y o
to a height of 5 m with uniform
Sueht ST TH @ ) Fg (1) :
i 2 thickness of the boundary, then the
TS 1 TN 2 £ thickness of the boundary will be
)
(2) %‘-’ﬁ 5 (a) %m
3
(b) %rﬁ G (b) 3m
2
© %nﬁ gPam
- : (d) None of these
d) FHAFE TE
65. foeht w DM PO F ww @aws | 5 :;‘a:i;imle of ?aiirus a, f[h]]e Sctlﬁare of
i um size is drawn. Then the ratio
e 7 T 1 5 Bt 1 S B of area of circle and the area of square
PO ‘ q will be
b Z R o
2 i3
; (b) 5
(c) 1_" (©) 2
T
(d) T qHETE (d) None of these
CGP-18-02* Page No. 27 Set-A
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66. wfu-Rrede v T § - . ‘e’ w1 T o T -
(a) g -3 + gy (a) orfie
(c) TS — T + 33 © P
(d) TS - + 3F ) e
67. ﬁmﬁaﬁﬁmmé_
; e YHR & -
(a) 3Tl e 8 ‘aw‘m
(b) Frefterm (a) g4
(¢) s OREEESH
(d) - (c) AT
(d) T TR
68. ‘3T ISR 7 @ HT O R -
b el 73, e § 9 ‘T TR R -
’(b) TG 7 Qe | « O
2~ (c) | FE | oy
(d) 9= HET | R
69. ‘TH @ Hiel, T W =G AR H (d) gm
et g -

() B I AR TEE TR | 74. <EHHT qFEETE) TR R -
(b) et 3 gH-TE I E | (a) TR

(c) Toft <t Sreat e # et 3R T (b) R

ﬁﬁﬂ‘ll : ; - (c) "HYgF
5 fmﬁgﬁmﬁwaﬁ@a (d) R
70, W HI TG FE R 7 75, I it feim v d -
(a) = (a) 3REH
(R) P (b) S
(c) 3I59dEed () Ime
i T (d) o
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56, AT TR 7 o ‘M@ammm’%fmm
(a) WO T 1 8 7
(b) wa] (a) Eﬁﬁmh
(c) (b) BTt B¢
(d) BT e@HT
7. Wmﬁﬁ%mm—m‘mxm
gfﬁw@%%, (222“7’%2“‘”“@“ 81, el gerer & e 2 R P
TR 7 R RECIERESTEN
(@) T gl
(b) AT T Q goi
() agdt It ©
(d) FGAT ITATA @ T
: : 82, ‘Hfia e & forg seiaTe! GETERT T
78. %ﬁ?rq»'a-@m & foru wfianTet geem w0 i
(a)’ SFeitt g -y  :
YT
(b) 3R AT &L WA 2 gl
. (c) W& Y
EZ; mm (d) H4 TGl
. Frerdifa T FRusdedggn | 83 T SR B -
R 7 Ghe-gufeq ver, T
(@) FgenET (a) wHifeTEr~
(b) Frag-Higr g (b) g8 ”
(c) g (© Fgam —
(d) Hh-gfa g (d) g —
a-n_ozo Page No. 29 Set-A
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84, TR AREIRFERRER - | 87, o defE & e & H

TSRS HSRAAT ﬁﬁm—
T T o @ @ wwh
_Aa) RS n e
(b) i (@) s
(c) W
(c) Afean
R @ &

85. TG SRR R R BIGH R~ | 88, gl S i It e -

292 = 3 G, WA i 3 Sl i ST
(@) &
(a) Hi= _
(b) =gHl
ORI © e
(c) der (d) @ °
(d) S 89, el e feere <h ffd e -
(a) 28 A9
86. TG Wi & Red wm & gfd (b) 14 3T
i - () 21 ®&
FIA-QIET TSI, WIHUs d) 14 foast
N 90. ‘TR w1 HqY R Hord €
(a) Hifgan PR T3 S T HEATH B § ¢
_(b) B (a) . foriig Fm e
(b) @i, fomer HAR U
Do (c) TEREE
(&) g (@) T ferardh
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T

Im ﬁgm’waﬁiw
4 ¢ 96 W@ﬁmﬁmmt-
(a) W g
m‘& (a) ga'_ﬁ
> 2 (b) I
(C) ﬁﬂ ‘ © ﬂaﬂq
A @ TH
i 3 S e ST H
¥ DN H 3 3T 97, frffea d A
g, fretaRed & :
(a) 3 et R
(@ 9
" (b)
(c) A © 1
¢ @
T . 98, TTIAG! SHICH @ﬁém,@m
93, g@aﬁﬁqmm% ? g il
5 (a) HTH3
T (b) A
P (©) FAR
(d) d) T[T
94, SN I I WgaSA T ? g9, & e Rra TR FANE ?
(a) € (a) s
() o€ e
y J ()
i () T
(d) FEd R TS
100. SIe HT AL TR 7
95, “Rirr g b U (SHETG) TS T A Feehl FEHA 9,
RE - A ¥ afea TRa W |
(a) PR (a) ¥R
(b) b)
() Prifa (c) e
@) PR @) 7
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